al
12 GA COMMERCIAL

TOP FIXTURE ATTACHED W/(4>

1/4” x 3/4" HEX HEAD SCREWS

AT EACH END STILE

ADJUSTABLE SLIDE BRACKET ATTACHED
W/(2> 1/4" x.1/2° BOLT AND NUTS

24 GA, MIN EXTERIOR SKIN
14GA. DURASAFE w/BAKED ON POLYESTER FINISH\

7R

s

12 GA. GALV. COMMERCIAL /—\ 2 10 BALL STEEL ROLLER

TOP ROLLER BRACKET W/9° STEM AND (1> 7/16°
ATTACHED W/(4)> 1/4° x BOLT RETAINER USED FOR
3/4* HEX HEAD SCREWS THREADED FASTENERS

PER BRACKET

4
X3
&K

.

2
s

.0
X

CENTER HINGE ATTACHED

W/ (4> 1/4° x 3/4* 14GA, DURASAFE

HEX HEAD SCREWS ROLLER CARRIER ATTACHED IE?\JDG?JH?(’]J}':QAAS'IQFECHED
TO R-TRUSS W/ (3> 1/4" x 3/4" W/ (@ 1/4* x 5/8°
HEX HEAD SCREWS PER CARRIER HEX HEAD SCREWS

(2

2
2%

25
<5
R

&
&%
5%

X

0

5

2
&S

v,
P

o

K2

35

R

2
S

5%

5

!

Q
2
.,

(2
2
"o’

K2

3%

% .‘
S
% %% %

2
>

2
&

TOP SECTION 3 5/8°H X 22 GA.
GALV. STEEL R-TRUSS

ATTACHED ON TDP FIXTURE

W/ (@) 1/4" x 3/4° HEX HEAD
SCREWS AT EACH STILE, AND (>
IN BACK SKIN MIDWAY BETWEEN
CENTER AND END STILE

825
X2
PSS

(> 3 5/8° X 22 GA R TRUSS
ATTACHED W/ (2> 1/4* X 3/4”
HEX HEAD SCREWS PER STILE

2° 10 BALL STEEL ROLLER W/9” STEM
AND (1> RETAINER USED FOR
THREADED SHAFTS PER ROLLER

253585
2505000
&
4

3 5/8° 22GA. R-TRUSS
ATTACHED W/ (@ 1/4* X
3/4* HEX HEAD SCREWS
AT EACH HINGE

X2

e

Oute!

&%
235
ZRRERRS
o3 &S
KRR

14GA. DURASAFE

ROLLER CARRIERS ATTACHED

TO END STILE W/ (4) 1/4° x 3/4*
HEX HEAD SCREWS PER CARRIER

XX

CFC-FREE EXPANDED

TYPICAL TOP F
N.T.S. IXTURES @ 3 5/8° 226A R-TRUSS \~ — e POLYSTYRENE INSULATION
TYPICAL DURASAFE CENTER HINGE P ATTACHED W/ (4> 1/74° x 3/4° R 1 LB DENSITY
N.T.S. HEX HEAD SCREWS SLIDE LOCK ENGAGES INTO VERTICAL 2 R=573, U=017
TRACK ON BOTH SIDES '5/8° MIN K
(SNAP LATCH, OR LOCK BAR OPTIONAL) K
et £ ATTACH W/(@ 1/4 x 3/4°HEX HEAD KRS END HINGE
SCREWS - .

TYPICAL DURASAFE END HINGE @
N.T.S.

3 5/8°H X 22 GA. GALV. STEEL
R-TRUSS ATTACHED (1>

PER SECTION W/ (4> 1/4° x 3/4°
HEX HEAD SCREWS AT EACH

END STILE, (@ AT THE

HINGE LOCATION, AND (2>

IN BACK SKIN MIDWAY BETWEEN

2’ 20GA. STRUT ATTACHED W/
@ 1/4* X 3/4" HEX HEAD SCREWS

! / / / / / /7 / H AT EACH END STILE, CENTER STILE,
N : AND INTO BACK SKIN MIDWAY BETWEEN

CENTER STILE AND END STILE

RT
0%

Q

5%

XX
5

&K
o
5

55

2

)

X
9%,
X

%o’

5%

20!

240
XX

5%
%

120

2

4.-
)

o
o

%
&
&

8\ R HINGE AND END STILE
= o BOTTOM BRACKET N
= = 13 GA. I%TASHg% XS
W/<4> o ‘ Pededed
. SEE (TABLE 1> ON PAGE 4 FOR . XX > 2° 20 GA STRUT ON
T RECOMMENDED SECTION CONFIGURATION } 2° 10 BALL STEEL ROLLER V/o* STEM X — HEX HEAD SCREWS !_ A F\D G E M | S Sl I__ E I:::E::: BOTTOM SECTION o
AND NER U KA
: . THREADED SHAFTS PER ROLLER E::
3 0 &
) » ;:: BOTTOM BRACKET
——— — —— . TYPICAL BOTTOM BRACKET/ 4 IMPACT RESISTANT % W/ G e x 3740
= e — » N.TS. S HEX HEAD SCREWS
§ L2 : CONT. ALUMINUM RETAINER
. W/ CONT. BTM SEAL
: : THE METHOD OF TESTING WAS IN SUBSTANTIAL CONFORMANCE SECTION A—A (SIDE VIEW)
3 3 WITH THE PROCEDURE DESCRIBED IN DASMA 108 & 115, ASTM NTS: )
E330, E1886, E1996, & F588, AND TAS 201, 201, 203. THE ;
PRESSURES SHOWN ON THE DRAWINGS WERE CALCULATED USING REV | DESCRIPTION OF REVSIONS DATE Y
ASCE 7-98/02/05 WITH THE FOLLOWING PARAMETERS (5 FEET OF| [A | REVSED NOTE 8 1/1/09 |ceT
i ; DOOR WIDTH IN THE END ZONE, ROOF AT ANY SLOPE I=1.0): 5T UroTD WATS AR 00D FScE W e V2 R
WIND SPEED (MPH) | 190 | 172 | 164 | 156 | 150 | 200 GG PTONS 8/ R
INTERIOR OF GARAGE EXPOSURE LEVEL B_ C C_ D | D =
N MEAN ROOF HEIGHT [ 30 15 25 15 25 o~ g
——=h —=|  MAX. WIDTH 90"  |~— 22 SIS o
. MAX SIZE |88 2
. K0S
54 9 x 14 3% h S
e a 3
F-07 MAX ] L  |pEsieN LoaDs| &£ E 2
INSIDE_ELEVATION pesiN Loaps[ [ T T T T T T T 1] SPECIFICATIONS AND NOTES o =R R W g
N.TS. +256.5 LBS/FT ot NOTE 2 : £z ;
—303.8 LBS/FT 1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE VERTICAL TRACK, S : g
FROM THE TRACK THE LOAD IS TRANSFERRED TO THE VERTICAL JAMBS. ES . iy >
THE HORIZONTAL JAMB OR HEADER RECEIVES NO PORTION OF THE LOAD g‘_g "Po'._. Ice s?ﬂ’-"'é'f g
STOP MOULDING TRANSFERRED FROM THE DOOR. 59 t ‘z‘ S Prled N..--". \é - =
© ‘\ ) &6 @
3 3747 MIN, b 2olge X -2t 18GA —Vg/ug;félgthsg\sLnMR) 2. EACH VERTICAL JAMBS RECEIVES MAXIMUM DESIGN LOADS OF: LARGE MISSILE| &5 VOSTONALEY o z
_—I STDEROM r— INTERMEDIATE AND END HINGE +256.5 LBS/FT & —303.8 LBS/FT IMPACT | 83 e @
P ORI, [l
LOCATION 20 GA. GALV. STEEL END sTiLe 3. DOOR AND HARDWARE WILL BE DESIGNED, MANUFACTURED RESISTANCE =& T X A
QEEG%ED WITH @ #6 x 1-174° AND INSTALLED WITH STANDARDS AS SET FORTH BY DASMA.
L 4. DOOR SECTIONS SHALL BE 24 GA. (.0216) MIN. EXTERIOR SKIN
' | ROLLED FORMED, W/ BAKED ON POLYESTER FINISH a,’ ,
5/16" x 1 5/8° LAG 5. DOORS UPTO 7°0” HIGH CONSIST OF (4) SECTIONS AS SHOWN.
4GA. DURASAFE ROLLER
i%ﬁVBgzczg %%R%ggpi ﬁI'TAc*éE/’i:T” R-TRUSS USE (1) 3 5/8" R—TRUSS PER SECTION AND 165 CARRIAGE COURT WINSTON-SALEM, NC. 27105 WWW.AMARR.COM
HEX HEAD SCREWS (1) 27 20GA STRUT ON THE BOTTOM SECTION MODEL #1200 HERITAGE 3000
’ » 6. DOORS OVER (4) SECTIONS REFER TO TABLES 1 AND 2
e | B EES REGTRIG | cour vemnen owe v Bn"PACE § SHORY. LONL, FLUSH & 0AK SUMMIT PANELS
SPLICE BDLTJ:ug gglci?? SYP OR SPF 7. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED .
TRACK MOUNTING DETAIL (NO. 2 OR BETTER) BY A REGISTRED PROFESSIONAL ENGINEER FOR WIND LOADS SIZE| DRAWNBY  BHG| DATE 04/16/07 DRAWNG NUMBER
NTS. INDICATED ON THIS DRAWING IN ADDITION TO OTHER LOADINGS. B[ Geo@er | NE G/ IRC-1209-189-21-1
SHEET 1 OF 4




14 GA., FLAG BRACKET ATTACHED TO wOOD JAMB
W/ (3 5/16 DIA. X 1-5/8° LAG BOLTS AND TO
TRACK W/ (4> 1/4'-20 x 5/8 TRACK SPLICE
BOLTS AND NUTS

8
0 060000000 ‘o

SPLICE TRACKS AT THIS LOCATION

(SPLICED

LAG BOLTS

THROUGH

(1) 5/16" DIA. x 1-5/8"

LAG BOLT ATTACHED TO JAMB
AT EA. JAMB BRACKET

12 GA. GALV. STEEL

JAMB BRACKETS

ATTACHED W/ (1) 1/4"~20 x 5/8"
TRACK SPLICE BOLT & NUT

A 5

SEE (TABLE 2> ON PAGE 4
FOR JAMB BRACKET SPACING

TRACK CONFIGURATION FOR 6’6" UP TO 14’ TALL DOORS

o——Jl«——W/ (4) 1/4"-20 TRACK SPLICE BOLTS & NUTS
SECURE TO JAMB WITH (3) 5/16" DIA. x 1—5/8"

DOOR HEIGHT

IHMIDIV

VERTICAL UFT

O]OOSS

bl

AVAILABLE TRACK CONFIGURATIONS B

WOOD JAMB ATTACHMENT TO STRUCTURE

2 X A AMB ATTACHMENT TO WOOD RUCTUR

5/16° X 3’ LAG SCREWS STARTING 6° FROM ENDS THEN 18” OC. 1 1/2° EMBEDMENT

2 X 6 VERTICAL JAMB ATTACHMENT TO 2,000 PSI CONCRETE

HILTI KWIK BOLT 3/8° X 4° STARTING 6° FROM ENDS THEN 24 OC. (2 1/2° EMBEDMENT)

HILTI SLEEVE ANCHOR 3/8° X 2-3/4” STARTING 6° FROM ENDS THEN 16° OC. <1 1/4° EMBEDMENT)
ITW/RAMSET REDHEAD (TRU-BOLT)> 3/8” X 4° STARTING 6° FROM ENDS THEN 24’ O.C. (2 1/2° EMBEDMENT>

VERTICA TTACHMENT HOLLOW C-90 BL|
SIMPSON 1/4” X 3” TITEN SCREWS STARTING 6 FROM ENDS, USE PAIRS OF FASTENERS
(3 APART> AT 8“ OC. (1 1/2° EMBEDMENT)
HILTI 1/4° X 2-3/4" KWIK-CON II+ SCREWS STARTING 6 FROM ENDS, USE PAIRS OF
FASTENERS ¢(3” APART)> AT 8° OC. <1 1/4* EMBEDMENT)

X VERTICAL JA TACHMEN —-90 BLOCK <2000 PSI GROUT)
HILTI SLEEVE ANCHOR 3/8° X 2-3/4" STARTING 6” FROM ENDS ‘THEN 20 OC, (1 1/4°
EMBEDMENT) (OR, USE FASTENERS FOR HOLLOW C-90 BLOCK>

*LAGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE.
*PREPARATION OF wOOD JAMBS BY OTHERS

\ R \ .
WOOD CONCRETE HOLLOW BLOCK
STRUCTURE STRUCTURE GROUTED BLOCK

STRUCTURE STRUCTURE

M

EMBEDMENT

| il ‘ i

= =T L—I
172 MIN 2-3/4* MIN 1-1/27 |MIN 4*
2X6 JAMB
TYP. 3 MIN

HIGH UFT
W=

REV | DESCRIPTION OF REVISIONS

DATE  BY

A | REVISED NOTE 8 -

1/1/09 |CBT

B | UPDATED- WJATS AND ADDED ASCE MPH DETAL

12/5/m RR

C | ADDED GLAZING OPTIONS

10/28/13 [RIR

9 x 14

DESIGN LOADS
+57.0 PSF
-67.5 PSF

LARGE MISSILE
IMPACT
RESISTANCE

Thomas L. Shelmerdine, PE (TX PE #85829)
Structural Solutions, PA (TX Firm #F-004063)

X

\\\\\\

it et

il

b
5921-G W. Friendly AveiGree‘ns‘ koroj NC 27410

LOW HEADROOM

STANDARD LIFT
KT - THAKT - T

arr

a 165 CARRIAGE COURT WINSTON-SALEM, NC. 27105 WWW.AMARR.COM

MODEL #1200 HERITAGE 3000

MODEL #1200 OAK SUMMIT 3000
SHORT, LONG, FLUSH & OAK SUMMIT PANELS

DRAWN BY  BHG| DATE 04/16/07

Bl |l =

DRAWING NUMBER

CHECKED BY SKW| DATE  05/08/07

N.T.S.

IRC-1209-189-21-1

SHEET 2 OF 4




TOP SECTION

381" MAX. DLD

—_— 055 6060 EXTRUDED ALUMINUM EXTERIOR FRAME

T e | ~ — ‘ 0> #8 X 1° PHILLIPS
w 1/4* MAKROLON POLYCARBONATE / / HEAD SHEETMETAL scm:vs\

/ MANUFACTURED BY BAYER
108

{ / (‘.'a\( ‘ N MAX, DLD

1/8* X 1/8° CONTINUDUS
(H5078> HOT MELT SEALANT LONG PANEL IMPACT GLAZING FASTENER DETAIL

MANUFACTURED BY BOSTIK N.T.S.

055" 6060 EXTRUDED ALUMINUM
INTERIOR FRAME

SECTION B-B IMPACT WINDOW DETAIL
N.T.S.

P_'[I:ISN NG PANE CTION R-TRUSS AN T AYDOUT
NT.S. §

033" GALV STEEL INTERIOR IMPACT WINDOW FRAME

TO0P SECTION
,033* GALV STEEL EXTERIOR IMPACT WINDOW FRAME W/.5° BITE ON GLASS

27 GA. STEEL DOOR SKIN

DECORATIVE PLASTIC INJECTION
MOLDED EXTERIOR WINDOW FRAME
. 5/16" OVERALL

1/8" CLEAR ANNEALED GLASS
[ 090° SOLUTIA PVB INTERLAYER

1/8° CLEAR ANNEALED GLASS
MANUFACTURED BY GUARDIAN

IMPACT GLAZING FASTENER DETAIL

NTS,
GLAZING MEETS ASTM E1300-04

INTERMEDIATE SECTION

REV | DESCRIPTION OF REVISIONS DAE  [BY
A | REVISED NOTE 8 1/1/09  |cBT
2. 3/16° X 1/2° SCREW - USED TO _ B | UPDATED WJATS AND ADDED ASCE MPH DETAL  [12/5/11 [RIR
FASTEN THE STEEL EXTERIOR IMPACT WINDOW FRAME TO
THE STEEL INTERIOR IMPACT WINDOW FRAME. ¢ ADDED GLAZING OPTIONS 10/28/13 IRLR
3.11/64" X 1/2° SCREW - USED TO fASTEN DECORATIVE PLASTIC MOLDED
WINDOW FRAME TO THE ASSEMBLY — g
§8 - \\\\\\\ N
SECTION C-C IMPACT WINDOW DETAIL ) =~ <eO0FTg \\\ 9
I:IF\TPSN L SHORT PANEL GLAZED SECTION R-TRUSS AND STILE LAYOUT N.T.S. 9 x 14 | Bd ;fo Ll ""'--.‘tyd, ) g
T.S. [ ”~ K i 9
DESIGN LOADS| EE 24 & % %
+57.0 PSF | i // g
-67.5 PSF ‘QE;E 7 TH N 2 ©
14GA. DURASAFE = g7 s saerasnetatarconacgeracns
CENTER HINGE ATTACHED €5 /¥ .o~ 858 i =
W/ <4) 174" x 3/4° o5 4] Do, P k]
HEX HEAD SCREWS 5347 N O L ICENSE L 5
/\ 3 5/8" 22A R-TRUSS eop vssi el B WOSioNAL BN =
3 5/8” X 22 GA R TRUSS AlTTALHED W/ () 174" X LARGE MISSILE| g2 IS O - =
ATTACHED W/ (2> 174" X 3/4* 3/4° HEX HEAD SCREWS IMPACT B NS ©
HEX HEAD SCREWS PER STILE AT EACH CENTER STILE RESISTANCE '—ﬁ TX §
wn

arr,

165 CARRIAGE COURT WINSTON-SALEM, NC. 27105 WWW.AMARR.COM

MODEL #1200 HERITAGE 3000

MODEL #1200 OAK SUMMIT 3000
SHORT, LONG, FLUSH & OAK SUMMIT PANELS

R-TRUSS SPACER @
E;;‘RUSS SPACER@ STE| DRAWNBY ~ BHG| DATE  04/16/07 DRAWNG NUMBER

B | cueckep BY scw| OATE  05/08/07 IRC-1209-189-21-
SHEET 3 OF 4

R-TRUSS SPACER
R-TRUSS SPACER




TABLE 1 TABLE 2

DOOR SECTION HEIGHTS DOOR TRACK ATTACHMENT SPLICE
HEIGHT

HEIGHT

ALL TRACK ATTACHMENT SPACING +/—2" ALLOWED WITH SYP OR SPF NO. 2 OR BETTER ONLY

REV | DESCRIPTION OF REVISIONS DA Y
A | REVSED NOTE 8 1/7/09  |cBT
B | UPDATED WIATS AND ADDED ASCE MPH DETAL  [12/5/11 [RIR
C | ADDED GLAZNG OPTIONS 10/28/13 [RIR

- 2

g g s‘.‘\\\\\\ ~

28 SR OFTe N e

9 x 14’ 5; P P"“..E.......Ig.,kq |1 i

a ~ Gt S

DESIGN LOADS| = £ P ~ 2

+57.0 PSF | wx o : o

_67.5 PSF GJ‘E A‘v .......................... / ‘5

£& ASTMAS L. SHELMERDINE # g

R ikt g

ES Mo 85 ifa =

T = # ., o | £l

&3 “ = ICERS S g

42 ‘\ Aareer i (.,@ = b

LARGE MISSILE| £ 5 ‘\-?/OMALE‘:_—.: 3

IMPACT | § ASUCRE o

RESISTANCE |~ & TX N

(T2}

Amary

165 CARRIAGE COURT WINSTON-SALEM, N.C. 27105 WWW.AMARR.COM

MODEL #1200 HERITAGE 3000

MODEL #1200 OAK SUMMIT 3000
SHORT, LONG, FLUSH & OAK SUMMIT PANELS

SZE| DRAWN BY  BHG| DATE 04/16/07 DRAWNG NUMBER
B | CHECKEDBY SKW| DATE 05/08/07 IRC-1209-189-21-1
SHEET 4 OF 4




